

FOUNDATION 2024



# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024 TIMES: \*\*Distributed by school\*\* PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Your Retail Service Centre
13 TELFORD DRIVE SHEPPARTON VIC 3630

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	FOUNDATION					_
	TEXTS & STATIONERY					
F60710	Initial Lit Foundation Handwriting W/Bk & Reading Diary Fee	1	$\checkmark$	1	22.00	22.00
	Supplied at School in Term 1					
P54232	Stathfieldsaye Primary School Library Bag	2	$\checkmark$	1	19.95	19.95
P50677	Book Box 27cmHx17cmWx25cmD - Blue	3	$\checkmark$	2	5.95	11.90
P55413	Crayons 12's Twistables Crayola	4	$\checkmark$	1	8.30	8.30
P50729	Display Book A4 40 Pocket Insert Cover Blue Non-Refillable	5	$\checkmark$	1	5.45	5.45
P52601	Display Book A4 20 Pocket Black Non-Refillable	6	$\checkmark$	1	3.15	3.15
P50281	Document Envelope A4 PP With Press Stud Clear	7	$\checkmark$	2	1.25	2.50
P51006	Document Envelope A4 PP With Press Stud Blue	8	$\checkmark$	1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	9	$\checkmark$	2	0.40	0.80
P53154	Exercise Book A4 48 Page 25mm Ruled Spirax	10	$\checkmark$	1	1.30	1.30
P55654	Glue Stick 40gm UHU Blue	11	$\checkmark$	1	3.35	3.35
P50923	Headphones Deluxe With Inline Volume Control	12	$\checkmark$	1	15.95	15.95
P52988	Headphone Mesh Pouch	13	$\checkmark$	1	6.95	6.95
P51597	Manilla Folder F/Cap Purple	14	$\checkmark$	1	0.50	0.50
P55808	Markers Connector Pens Wallet 12 Assorted	15	$\checkmark$	1	6.55	6.55
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	16	$\overline{\checkmark}$	2	10.50	21.00
P56073	Pencils-Coloured 12's Bic Kids Evolution Triangular	17	$\overline{\checkmark}$	1	5.95	5.95
P56183	Pencil (2B) Junior Triangular Grip	18	$\overline{\checkmark}$	1	0.80	0.80
P51823	Pencil Triangular Lyra Groove	19	$\overline{\checkmark}$	4	2.35	9.40
P51970	Playbook 330x240mm 64pg Plain/24mm Ruled Stapled	20	$\overline{\checkmark}$	2	3.30	6.60
P56451	Scrapbook 335x240mm 64 Page	21	$\overline{\checkmark}$	6	2.10	12.60
P51356	Sharpener Pencil Wave Double Hole	22	$\overline{\checkmark}$	1	2.05	2.05
P51959	Storybook 330x240mm 64pg 1/2 Plain 1/2 24mm Dotted Thirds	23	$\overline{\checkmark}$	1	3.55	3.55
P50200	Scissors 130/135mm Junior Round End R/Handed	24	<u> </u>	1	2.10	2.10
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	25	<u> </u>	1	3.90	3.90
P54021	Whiteboard A4 Blank and Dotted Thirds with pen + eraser	26	<u></u>	1	8.75	8.75
P51366	Whiteboard Eco Markers Micador Pk 4	27	<u> </u>	1	6.50	6.50
P52551	Whiteboard Markers Fine Bullet Dry Erase Crayola 4 Assorted	28	$\overline{\mathbf{Z}}$	1	8.75	8.75
P51679	Writing Book 335 x 240mm 64pg 24mm Dotted Thirds Spirax 160	29	$\overline{\checkmark}$	1	2.55	2.55

Number of Boxes ticked:		
Delivery, packagin	g & handling \$0.00	
ESTIMATED AMOU	- <b>n</b>	





# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024 TIMES: \*\*Distributed by school\*\* PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Your Retail Service Centre
13 TELFORD DRIVE SHEPPARTON VIC 3630

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR 1					
	TEXTS & STATIONERY					
F60711	Initial Lit Year 1 Handwriting Workbooks & Reading Diary Fee	1	$\checkmark$	1	33.00	33.00
	Supplied at School in Term 1					
P54232	Stathfieldsaye Primary School Library Bag	2		1	19.95	19.95
	Retain from previous year. New Students only					
P50677	Book Box 27cmHx17cmWx25cmD - Blue	3	$\checkmark$	1	5.95	5.95
P50545	Crayons 16's Twistables Crayola	4	$\checkmark$	1	11.95	11.95
P55457	Display Book A4 40 Pocket Blue Non-Refillable Insert Cover	5	$\checkmark$	1	10.95	10.95
P51006	Document Envelope A4 PP With Press Stud Blue	6	$\checkmark$	1	1.25	1.25
P50281	Document Envelope A4 PP With Press Stud Clear	7	$\checkmark$	1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	8	$\checkmark$	3	0.40	1.20
P52321	Exercise Book 330x245mm 64pg 24mm Dotted Thirds (Ape)Protext	9	$\checkmark$	3	3.25	9.75
P55654	Glue Stick 40gm UHU Blue	10	$\checkmark$	3	3.35	10.05
P50923	Headphones Deluxe With Inline Volume Control	11		1	15.95	15.95
	Retain from previous year / or optional to purchase again		_			
P52988	Headphone Mesh Pouch	12		1	6.95	6.95
	Compulsory. Retain from previous year		_			
P50925	Manilla Folder F/Cap Yellow	13	$\checkmark$	1	0.50	0.50
P55822	Markers Crayola Washable Supertip 20's	14	$\checkmark$	1	10.60	10.60
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	15	$\overline{\checkmark}$	2	10.50	21.00
P52761	Pencil Case 230x150mm Neoprene Red	16	$\overline{\checkmark}$	1	4.40	4.40
P56183	Pencil (2B) Junior Triangular Grip	17	$\overline{\checkmark}$	1	0.80	0.80
P56179	Pencil (2B) Faber Grip 2001 Triangular - Non-Slip Grip	18	<u> </u>	8	1.40	11.20
P56237	Pencil Red Checking/Ruling	19	<u> </u>	3	0.75	2.25
P56258	Pencils-Coloured 24's Crayola	20	<u> </u>	1	9.50	9.50
P53065	Playing Cards (One Pack) Standard	21		1	2.60	2.60
	Optional		_			
P58507	Scissors 155mm Plastic Handle	22	$\checkmark$	1	2.95	2.95
P56451	Scrapbook 335x240mm 64 Page	23	<u> </u>	5	2.10	10.50
P51356	Sharpener Pencil Wave Double Hole	24	<u></u>	1	2.05	2.05
P51959	Storybook 330x240mm 64pg 1/2 Plain 1/2 24mm Dotted Thirds	25	$\overline{\mathbf{Z}}$	1	3.55	3.55
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	26	$\overline{\mathbf{A}}$	1	3.90	3.90
P51366	Whiteboard Eco Markers Micador Pk 4	27	$\overline{\mathbf{A}}$	1	6.50	6.50
P54132	Whiteboard A4 Blank and Dotted Thirds	28	<b>∡</b>	1	7.25	7.25
P51072	Whiteboard Eraser Mini Magnetic	29	<b>∡</b> i	2	1.25	2.50
P51683	Writing Book 335 x 240mm 64pg 18mm Dotted Thirds Spirax 161	30	<b>∡</b> i	1	2.55	2.55
P52579	Writing Project Book 335 x 240mm 64pg 18mm Dotted Thirds	31	<b>∡</b> i	3	2.65	7.95
· · ·	Thing Tojost Book ood A 240min oapy Tohin Bottod Thinds	01		5	2.00	1.00

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE	\$





# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

## by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024 TIMES: \*\*Distributed by school\*\* PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Your Retail Service Centre
13 TELFORD DRIVE SHEPPARTON VIC 3630

Off: !!			• •			
Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR 2					
	TEXTS & STATIONERY					
<del>-</del> 60712	Initial Lit Year 2 Handwriting Workbooks & Reading Diary Fee	1	$\checkmark$	1	33.00	33.00
	Supplied at School in Term 1					
P55413	Crayons 12's Twistables Crayola	2		1	8.30	8.30
P55457	Display Book A4 40 Pocket Blue Non-Refillable Insert Cover	3		1	10.95	10.95
P51006	Document Envelope A4 PP With Press Stud Blue	4	$\checkmark$	1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	5	$\checkmark$	1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	6	$\checkmark$	3	0.40	1.20
P51995	Exercise Book A4 96 Page 18mm Dotted Thirds (Duck) Protext	7	$\checkmark$	2	3.25	6.50
P55654	Glue Stick 40gm UHU Blue	8	$\checkmark$	4	3.35	13.40
P50073	Grid Book A4 48 Page 10mm squares Protext	9	$\checkmark$	1	2.30	2.30
P51157	Highlighters Pkt 4 Micador ECO	10	$\checkmark$	1	3.50	3.50
P50923	Headphones Deluxe With Inline Volume Control	11		1	15.95	15.95
	Retain from previous year / or optional to purchase again					
P52988	Headphone Mesh Pouch	12		1	6.95	6.95
	Retain from previous year / or optional to purchase again					
P51556	Magazine Box 27cmHx9cmWx25cmD Blue	13	$\checkmark$	1	7.95	7.95
P55799	Manilla Folder F/Cap Dark Blue	14	$\checkmark$	1	0.50	0.50
P55808	Markers Connector Pens Wallet 12 Assorted	15	$\checkmark$	1	6.55	6.55
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	16	$\checkmark$	2	10.50	21.00
P52761	Pencil Case 230x150mm Neoprene Red	17	$\overline{\checkmark}$	1	4.40	4.40
P56237	Pencil Red Checking/Ruling	18	$\overline{\checkmark}$	1	0.75	0.75
P56183	Pencil (2B) Junior Triangular Grip	19	<u></u>	1	0.80	0.80
P56179	Pencil (2B) Faber Grip 2001 Triangular - Non-Slip Grip	20	<u></u>	6	1.40	8.40
P56258	Pencils-Coloured 24's Crayola	21	<u></u>	1	9.50	9.50
P53065	Playing Cards (One Pack) Standard	22	<u> </u>	1	2.60	2.60
P56350	Project Book 335x240mm 24 Pge 18mm Dtd Thirds 2/3 blank #525	23	<u> </u>	4	2.65	10.60
P50927	Scrapbook 330x245mm 64 Page Animal Magic PP cover 100gsm	24	<u> </u>	3	3.70	11.10
P58507	Scissors 155mm Plastic Handle	25	$\overline{\mathbf{Z}}$	1	2.95	2.95
P51356	Sharpener Pencil Wave Double Hole	26	<b>7</b>	1	2.05	2.05
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	27	$\overline{\mathbf{Z}}$	1	3.90	3.90
P54132	Whiteboard A4 Blank and Dotted Thirds	28	$\mathbf{Z}$	1	7.25	7.25
P51366	Whiteboard Eco Markers Micador Pk 4	29	$\mathbf{Z}$	1	6.50	6.50
P51666	Whiteboard Marker Artline Supreme Blue	30	$\mathbf{Z}$	1	2.25	2.25
P51665	Whiteboard Marker Artline Supreme Black	31	$\mathbf{Z}$	1	2.25	2.25
P51072	Whiteboard Eraser Mini Magnetic	32	<b>∡</b>	2	1.25	2.50
P51683	Writing Book 335 x 240mm 64pg 18mm Dotted Thirds Spirax 161	33	<b>☑</b>	3	2.55	7.65

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 30/10/23)	\$
(PRICES CORRECT AT 30/10/23)	\$





# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

## by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024
TIMES: \*\*Distributed by school\*\*
PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR 3					
	TEXTS & STATIONERY					
P01267	Handwriting Conventions VIC 3 [Murray]	1	$\checkmark$	1	15.95	15.95
P19150	Kluwell My Home Reading Green Level Middle [Kluzek & Coldwell]	2	$\checkmark$	1	5.50	5.50
P55321	Clipfolder A4 PVC Black	3	$\checkmark$	1	4.70	4.70
P55442	Display Book A4 20 Pocket Black Refillable	4	$\checkmark$	1	2.15	2.15
P55443	Display Book A4 20 Pocket Navy Blue Refillable	5	$\checkmark$	1	2.15	2.15
P55449	Display Book A4 20 Pocket Red Refillable	6	$\overline{\checkmark}$	1	2.15	2.15
P50729	Display Book A4 40 Pocket Insert Cover Blue Non-Refillable	7	<u> </u>	1	5.45	5.45
P50281	Document Envelope A4 PP With Press Stud Clear	8	<u> </u>	1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	9	<u> </u>	4	0.40	1.60
P55654	Glue Stick 40gm UHU Blue	10	$\overline{\mathbf{Z}}$	2	3.35	6.70
P51941	Graph Book A4 96 page 10mm Grid Squares	11	<u> </u>	1	2.10	2.10
P56210	Handy Pouch A4 (360mm x 260mm) Micador	12	<u> </u>	1	6.05	6.05
P50923	Headphones Deluxe With Inline Volume Control	13		1	15.95	15.95
	Retain from previous year / or optional to purchase again		_		.0.00	.0.00
P52988	Headphone Mesh Pouch	14		1	6.95	6.95
	Retain from previous year / or optional to purchase again		_	•	0.00	0.00
P52523	Highlighters Pkt 4 Assorted Maped (with blue)	15		1	5.75	5.75
P51594	Manilla Folder F/Cap Light Green	16	$\mathbf{Z}$	1	0.45	0.45
P56081	Marker Artline #200 Black 0.4mm	17	<b>⊠</b>	1	3.80	3.80
P55811	Markers Crayola Supertip Pkt 10's	18	<b>⊠</b>	1	5.05	5.05
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	19	<b>∡</b>	2	10.50	21.00
P50461	Pencil Case 235x130mm Name Small	20	<b>☑</b>	1	2.60	2.60
P52761	Pencil Case 230x150mm Neoprene Red	21	<b>☑</b>	1	4.40	4.40
P50458	Pencil Case 230x150mm Neoprene Blue	22	<b>₹</b> 1	1	4.40	4.40
P56237	Pencil Red Checking/Ruling	23	<b>₹</b> 1	2	0.75	1.50
P51313	Pencil (HB) Faber Grip 2001 Triangular - Non-Slip Grip	24		4	1.40	5.60
P56183	Pencil (2B) Junior Triangular Grip	24 25	<b>✓</b>	1	0.80	0.80
P56258		25 26	<b>✓</b>	1	9.50	
P50387	Pencils-Coloured 24's Crayola		<b>✓</b>			9.50
P50916	Pen Ballpoint Blue 1.0mm Papermate Inkjoy	27		2	0.65	1.30
	Pen Ballpoint Red 1.0mm Papermate Inkjoy	28		1	0.65	0.65
P56130	Pen Felt Tip Fineliner Black	29		1	2.85	2.85
P53124	Plastic Storage Tub Black 100mmW x 267mmD x 190mmH	30		1	11.15	11.15
P52127	Project Book A4 48 Page 14mm Dotted Thirds Spirax	31		3	1.30	3.90
P52969	Project Book A4 96 Page 14mm Dotted Thirds Spirax	32		4	2.00	8.00
P50049	Ruler 300mm Wooden (cm's only)	33		1	1.00	1.00
P50927	Scrapbook 330x245mm 64 Page Animal Magic PP cover 100gsm	34	$oldsymbol{\Delta}$	1	3.70	3.70
P58507	Scissors 155mm Plastic Handle	35	$\overline{\Delta}$	1	2.95	2.95
P51356	Sharpener Pencil Wave Double Hole	36	Ą	1	2.05	2.05
P56477	Sketch Book A4 20 leaf Perf Board Cover Spirax #534	37	Ą	1	3.75	3.75
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	38	Ą	1	3.90	3.90
P51366	Whiteboard Eco Markers Micador Pk 4	39	$\checkmark$	1	6.50	6.50

Page 2

(PRICES CORRECT AT 30/10/23)

 $\sqrt{\phantom{a}}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Delivery, packaging & handling \$0.00 **ESTIMATED AMOUNT DUE** <u>\$</u>

Office Use

Description





# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

## by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024 TIMES: \*\*Distributed by school\*\* PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR 4					
	TEXTS & STATIONERY					
P19150	Kluwell My Home Reading Green Level Middle [Kluzek & Coldwell]	1	$\checkmark$	1	5.50	5.50
P55451	Display Book A4 20 Pocket Insert Cover Black Refillable	2	$\checkmark$	1	4.85	4.85
P55442	Display Book A4 20 Pocket Black Refillable	3	$\checkmark$	1	2.15	2.15
P55449	Display Book A4 20 Pocket Red Refillable	4	$\checkmark$	1	2.15	2.15
P50281	Document Envelope A4 PP With Press Stud Clear	5	$\checkmark$	1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	6	$\checkmark$	4	0.40	1.60
P51997	Exercise Book A4 96 Page 14mm Dotted Thirds (Goanna) Protext	7	$\checkmark$	3	3.25	9.75
P55654	Glue Stick 40gm UHU Blue	8	$\checkmark$	2	3.35	6.70
P50923	Headphones Deluxe With Inline Volume Control	9		1	15.95	15.95
	Retain from previous year / or optional to purchase again					
P52988	Headphone Mesh Pouch	10		1	6.95	6.95
	Retain from previous year / or optional to purchase again					
P52523	Highlighters Pkt 4 Assorted Maped (with blue)	11	$\checkmark$	1	5.75	5.75
P53065	Playing Cards (One Pack) Standard	12		1	2.60	2.60
	Optional					
P51718	Manilla Folder F/Cap Pink	13	$\checkmark$	1	0.50	0.50
P55811	Markers Crayola Supertip Pkt 10's	14	$\checkmark$	1	5.05	5.05
P50114	Notebook A4 120 Page Q595/P595 Spiral	15	$\checkmark$	1	3.55	3.55
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	16	$\checkmark$	2	10.50	21.00
P51313	Pencil (HB) Faber Grip 2001 Triangular - Non-Slip Grip	17	$\checkmark$	7	1.40	9.80
P56183	Pencil (2B) Junior Triangular Grip	18	$\checkmark$	1	0.80	0.80
P52761	Pencil Case 230x150mm Neoprene Red	19	$\checkmark$	1	4.40	4.40
P50458	Pencil Case 230x150mm Neoprene Blue	20	$\checkmark$	1	4.40	4.40
P56237	Pencil Red Checking/Ruling	21	$\checkmark$	2	0.75	1.50
P56258	Pencils-Coloured 24's Crayola	22	$\checkmark$	1	9.50	9.50
P50387	Pen Ballpoint Blue 1.0mm Papermate Inkjoy	23	$\checkmark$	3	0.65	1.95
P50916	Pen Ballpoint Red 1.0mm Papermate Inkjoy	24	$\checkmark$	2	0.65	1.30
P50003	Pen Ballpoint Cap Type Green Med Staedtler	25	$\checkmark$	2	0.85	1.70
P56130	Pen Felt Tip Fineliner Black	26	$\checkmark$	1	2.85	2.85
P50049	Ruler 300mm Wooden (cm's only)	27	$\checkmark$	1	1.00	1.00
P52969	Project Book A4 96 Page 14mm Dotted Thirds Spirax	28	$\checkmark$	1	2.00	2.00
P50927	Scrapbook 330x245mm 64 Page Animal Magic PP cover 100gsm	29	$\checkmark$	2	3.70	7.40
P51356	Sharpener Pencil Wave Double Hole	30	$\checkmark$	1	2.05	2.05
P58507	Scissors 155mm Plastic Handle	31	$\checkmark$	1	2.95	2.95
P56477	Sketch Book A4 20 leaf Perf Board Cover Spirax #534	32	$\overline{\checkmark}$	1	3.75	3.75
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	33	$\overline{\checkmark}$	1	3.90	3.90
P51366	Whiteboard Eco Markers Micador Pk 4	34	<u> </u>	1	6.50	6.50

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 30/10/23)	\$





# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

## by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024 TIMES: \*\*Distributed by school\*\* PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Your Retail Service Centre
13 TELFORD DRIVE SHEPPARTON VIC 3630

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR 5					
	TEXTS & STATIONERY					
P51006	Document Envelope A4 PP With Press Stud Blue	1	$\checkmark$	1	1.25	1.25
P50643	Exercise Book A4 48 Page 8mm Protext	2	$\checkmark$	2	1.85	3.70
P52749	Exercise Book A4 96 Page 8mm Ruled PP Cover (Rabbit) Protext	3	$\checkmark$	4	2.85	11.40
P58510	Eraser Plastic Pencil Large With Sleeve	4	$\checkmark$	4	0.40	1.60
P55654	Glue Stick 40gm UHU Blue	5	$\checkmark$	1	3.35	3.35
P50073	Grid Book A4 48 Page 10mm squares Protext	6	$\checkmark$	2	2.30	4.60
P56209	Handy Pouch A3	7	$\checkmark$	2	7.05	14.10
P50923	Headphones Deluxe With Inline Volume Control	8		1	15.95	15.95
	Retain from previous year / or optional to purchase again					
P52988	Headphone Mesh Pouch	9		1	6.95	6.95
	Retain from previous year / or optional to purchase again					
P52523	Highlighters Pkt 4 Assorted Maped (with blue)	10	$\checkmark$	1	5.75	5.75
P50873	Manilla Folder F/Cap Red	11	$\checkmark$	1	0.50	0.50
P56081	Marker Artline #200 Black 0.4mm	12	$\checkmark$	1	3.80	3.80
P55815	Markers Texta Nylorite TX200/12's Asstd/Cols	13	$\checkmark$	1	3.15	3.15
P55955	Notebook A4 300 Page 4 Pocket 3 Subject	14	$\checkmark$	1	10.95	10.95
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	15	$\checkmark$	2	10.50	21.00
P51313	Pencil (HB) Faber Grip 2001 Triangular - Non-Slip Grip	16	$\checkmark$	3	1.40	4.20
P56183	Pencil (2B) Junior Triangular Grip	17	$\checkmark$	1	0.80	0.80
P56258	Pencils-Coloured 24's Crayola	18	$\checkmark$	1	9.50	9.50
P52761	Pencil Case 230x150mm Neoprene Red	19	$\checkmark$	2	4.40	8.80
P50458	Pencil Case 230x150mm Neoprene Blue	20	$\checkmark$	2	4.40	8.80
P50916	Pen Ballpoint Red 1.0mm Papermate Inkjoy	21	$\checkmark$	2	0.65	1.30
P50387	Pen Ballpoint Blue 1.0mm Papermate Inkjoy	22	$\checkmark$	6	0.65	3.90
P56130	Pen Felt Tip Fineliner Black	23	$\checkmark$	1	2.85	2.85
P56353	Protractor 10 cm 180 4" Half Circle	24	$\checkmark$	1	0.45	0.45
P50049	Ruler 300mm Wooden (cm's only)	25	$\checkmark$	1	1.00	1.00
P58507	Scissors 155mm Plastic Handle	26	$\checkmark$	1	2.95	2.95
P51356	Sharpener Pencil Wave Double Hole	27	$\checkmark$	1	2.05	2.05
P56477	Sketch Book A4 20 leaf Perf Board Cover Spirax #534	28	$\overline{\checkmark}$	1	3.75	3.75
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	29	$\overline{\checkmark}$	1	3.90	3.90
P51366	Whiteboard Eco Markers Micador Pk 4	30	$\overline{\checkmark}$	1	6.50	6.50

\$0.00
\$





# ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "J8XP" as your code

## by Thursday 14th December 2023

#### PREPACKAGED COLLECTION SERVICE

Delivery – Orders placed by the due date will be delivered to school on Monday 15 January 2024. The named orders will then be taken to the classrooms ready for the start of the school year.

DAYS: Monday, 15 January 2024 TIMES: \*\*Distributed by school\*\* PLACE: \*\*Distributed by school\*\*

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time.

For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au.



Your Retail Service Centre
13 TELFORD DRIVE SHEPPARTON VIC 3630

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR 6					
	TEXTS & STATIONERY					
P56320	Clear Case B4 353 x 250	1	$\checkmark$	1	5.50	5.50
P55321	Clipfolder A4 PVC Black	2	$\checkmark$	1	4.70	4.70
P55446	Display Book A4 20 Pocket Green Refillable	3	$\checkmark$	1	2.15	2.15
P51006	Document Envelope A4 PP With Press Stud Blue	4	$\checkmark$	3	1.25	3.75
P58510	Eraser Plastic Pencil Large With Sleeve	5	$\checkmark$	4	0.40	1.60
P50643	Exercise Book A4 48 Page 8mm Protext	6	$\checkmark$	5	1.85	9.25
P55654	Glue Stick 40gm UHU Blue	7	$\checkmark$	2	3.35	6.70
P52472	Grid Book A4 48 Page 10mm	8	$\checkmark$	2	1.30	2.60
P50923	Headphones Deluxe With Inline Volume Control	9		1	15.95	15.95
	Retain from previous year / or optional to purchase again					
P52988	Headphone Mesh Pouch	10		1	6.95	6.95
	Retain from previous year / or optional to purchase again					
P52523	Highlighters Pkt 4 Assorted Maped (with blue)	11	$\checkmark$	1	5.75	5.75
P50873	Manilla Folder F/Cap Red	12	$\checkmark$	1	0.50	0.50
P55815	Markers Texta Nylorite TX200/12's Asstd/Cols	13	$\checkmark$	1	3.15	3.15
P50402	Office Pad A4 70 Leaf Bond Ruled Both Side	14	$\checkmark$	1	3.65	3.65
P52995	Paper Copy A4 80gsm White Ream - (SUPPLIED TO SCHOOL)	15	$\checkmark$	2	10.50	21.00
P56179	Pencil (2B) Faber Grip 2001 Triangular - Non-Slip Grip	16	$\checkmark$	4	1.40	5.60
P56183	Pencil (2B) Junior Triangular Grip	17	$\checkmark$	1	0.80	0.80
P56258	Pencils-Coloured 24's Crayola	18	$\checkmark$	1	9.50	9.50
P50458	Pencil Case 230x150mm Neoprene Blue	19	$\checkmark$	1	4.40	4.40
P52761	Pencil Case 230x150mm Neoprene Red	20	$\checkmark$	1	4.40	4.40
P50916	Pen Ballpoint Red 1.0mm Papermate Inkjoy	21	$\checkmark$	2	0.65	1.30
P50387	Pen Ballpoint Blue 1.0mm Papermate Inkjoy	22	$\checkmark$	5	0.65	3.25
P56130	Pen Felt Tip Fineliner Black	23	$\checkmark$	1	2.85	2.85
P56414	Ruler 300mm Plastic Clear	24	$\checkmark$	1	0.75	0.75
P52098	Scissors 158mm School - Orange Handle	25	$\overline{\checkmark}$	1	3.50	3.50
P56477	Sketch Book A4 20 leaf Perf Board Cover Spirax #534	26	$\overline{\checkmark}$	1	3.75	3.75
P51356	Sharpener Pencil Wave Double Hole	27	$\checkmark$	1	2.05	2.05
P53066	Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL)	28	$\overline{\mathbf{\Delta}}$	1	3.90	3.90

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 30/10/23)	\$